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10-5 Additional Practice
Inverse Matrices and Systems of Equations

Solve the matrix equation A ∙ X = B for the given matrices.  

	 1.	 A = ​​[​  9​  −4​ 
−3

​ 
6
​]​​

		  B = ​​[​−30​ 
3
​]​​ 

		  X =

	 2.	 A = ​​[​−4​  6​ 
2
​ 

−8
​]​​

		  B = ​​[​336​ 
132

​]​​ 

		  X =

	 3.	 A = ​​[​−10​  6​ 
−5

​ 
−4

​]​​

		  B = ​​[​  10​ 
−100

​]​​ 

		  X =

Express the system of linear equations as a matrix equation. 

	 4.	 ​​{​
6x + 9y = 36

​  
4x + 13y = 2

​​​ 	 5.	 ​​{​
3x − 4y = −9

​  
7y = 24

 ​​​  	 6.	 ​​
⎧

 
⎪

 ⎨ 
⎪

 

⎩
​
4x − z = 9

​ 12x + 2y = 17​  
x − y + 12z = 3

​​​

​ ​ 
  
     

Solve the following systems of linear equations using inverse matrices, if possible. 

	 7.	 ​​{​
x + 3y = 5

​ 
x + 4y = 6

​​​

		

	 8.	 ​​{​
x − 3y = −1

​  
−6x + 19y = 6

​​​ 	 9.	 ​​
⎧

 
⎪

 ⎨ 
⎪

 
⎩

​
−3x + 4y − z = −5

​  x − y − z = 8​  
2x + y + 2z = 9

 ​​​

10.	 The difference between twice Bill’s age and Carlos’s age is 26. The sum of 
Anna’s age, three times Bill’s age, and Carlos’s age is 92. The total of the 
three ages is 52. 

		  a.  Write a matrix equation to represent this situation. ​

		  b.  How old is each person? 

	11.	 Explain how you can use a matrix equation to show that the lines represented 
by y = −3x + 4 and 4y = −4x − 8 intersect. 
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